
Tömegarány
 x g oldott anyag

100 g oldószerben

Térfogat%
x cm3 oldott anyag
100 cm3 oldatbanVegyes%

x g oldott anyag
100 cm3 oldatban

Tömegkoncentráció
x g oldott anyag
1 dm3 oldatban

Molaritás
x mol oldott anyag

1 dm3 oldatban

Tömeg%
 x g oldott anyag
100 g oldatban

Molalitás (Raoult)
 x mol oldott anyag
1 kg oldószerben

Moltört
 x mol oldott anyag

1 mol oldatban

Hígítás
x dm3 oldat, amelyben
1 mol oldott anyag van

Mol%
 x mol oldott anyag
100 mol oldatban
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Oldószerre
vonatkoznak !

A koncentrációt 
általában

 az oldatra 
vonatkoztatják!

Térfogattört
x cm3 oldott anyag

1 cm3 oldatban
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Tömegtört
 x g oldott anyag

1 g oldatban

/100%
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